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TILE USEFULNESS

1.TILE USEFULNESS

Legend:

X —not possible

A—decent
O -good
© - superb
CREATING RUNS CREATING RYANMEN
guestwinds X X
Yakuhai X X
terminals (1 & 9) A X
2&38 O A
3~7 © O

Important: the most flexible tiles tendto getincreasingly dangerous to discard as your hand progresses.



TILE USEFULNESS

QUESTION 1-1!

HEBGH0HE

What would you discard?

R E ] HEH ]

1 Answer to each WWYD is on a following page.



TILE USEFULNESS

You should considerthe possibility of improving to ryanmen:

— |
Can only improve to ryanmen with 5m.

8 8|g8E

g 8|88 Canimprove to ryanmen with both 3s and 6s.

Discard 2m!
Why not 4m?

You can draw 5m later and keep the block in Manzu:

HHBGHD

ofofi

HUIHE




TILE USEFULNESS

QUESTION 1-2

HHH][EEEI[@[

What would you discard?

_
Dora:

OO

=HE




TILE USEFULNESS

AR AR 2

@83( @
R EH Y @..::::g k)

You can consider this situation from two perspectives:

a) 13sis the weakest block and 1s is the least useful tile. You may want to discard 1s for
maximum efficiency

b) 13s waits on a 2 and 46m waits on a 5. From your opponents’ standpoint, 2’s are more
likely to be discarded than 5’s. That’s why 13s may be more effective as the final wait.
For example, it’s easier for a 2 to become a suji trap.

Opinions on this matter vary among high level players. It is important that you internalize both
methods and use either judgement each time you are in a similar situation.



SHANPON COMBINATIONS

2.SHANPON COMBINATIONS

Let’s review the basic waits:

WAIT TYPE OUTS NO OF OUTS
yenmen
Ak i 2 kinds; s
HHE 1 kind; 4 tiles
HEH 1 kind; 4 tiles
gﬂg 2 kinds; 4 tiles
Three types of waits can be completed with only 4 tiles.
Consider ukeire of the following shapes:
sleisls] () .
DO8HH BROE

Shanponincreases ukeire. Combined with ryanmen, it gives 12 tiles in total; with kanchan — 8 tiles
(the same appliesto penchan).

Now let’s look at some hand examples.



SHANPON COMBINATIONS

OHRSRHHBEH 16

This is an example of a perfectiishanten. Calling Chun gives ryanmen tenpai. You getryanmen tenpai
with a closed hand as well.

DBRSERREEENRR

This is not a perfectiishanten butit’s still a good shape. You get a good tenpai with Chun and 34m.



SHANPON COMBINATIONS

QUESTION 2 1
L)

HHH HHH
33 g HHH HHH

What would you discard?

8

® @




SHANPON COMBINATIONS
@@

[] [: :] 38 [%][ HHH EEE...

Ryanmenis the strongest block so you should discard 6s fora perfectiishanten:

DBRERBEBE R

BEWARE OF A COMMON MISTAKE:

seze|ze HHH HHE
[}[ 3] HHH HHH...

If you focus on calling Chun and prematurely discard 2m to fix your 4m pair, you will miss out on
ryanmen tenpaiafter drawing 3m!

KEY POINT:

< Whenyou have three pairs in yourhand, you should break off the pair from the strongest
block.




SHANPON COMBINATIONS

QUESTION 2-2

gE

® @

@

JE%]

HHBE

g8
B8

l[

g8
g8

][

B
B

8

B
B

i

What would you discard?

HEH BEE
BE HHH

10



SHANPON COMBINATIONS

HBHAGEHEE

You should fix one of the ryanmen. Choose 3p or 4s!

Which ryanmen will be betteras the final wait? Consider completing shanpon first.

HEREE
][H H][H H]EEE i

If you discard 3p and draw 9s:

BRHARE

(]
Wait:

2

it

If you discard 4s and draw 9s:

BBERARRGHES
B (BEE
wait: | § §]B88

If you considerthe likelihood of each tile getting discarded by your opponents, you’llrealize that 14p
wait should be easier to win on because it includes a terminal tile which isn’t very useful, generally
speaking.

11



SHANPON COMBINATIONS

QUESTION 2-3

gE

® @

@

JE%]

HHBE

g8
B8

l[

g8
g8

2]

What would you discard?

B|EBEE
B EHH

12



SHANPON COMBINATIONS

E

HEBBREHEE ]

Again, it all boils down to picking the wait you want to end up with. Consider completing the shanpon
first.

If you discard 3p and draw 4s or 9s:

o VIV,
= | %“%“g“:ﬁ“:ﬁ][:%“a a][a JE u%@%ﬁ%
(@ =, (15> [ [ \#)8 8|3 8)5,8 28| EEE)EEE
3 %A:%“%gﬁ][gua a][a u%ﬁ@%ﬁ%

You lose the red dora in both cases. You can’t allow that to happen!

You should fix the dora ryanmen by discarding 4s:

e GG
%%%Q@%ggwﬁﬁﬁﬁ
o T e e TR
%%%ﬁ@%@%ﬁhﬁﬁﬁ

You keep thered dorain both cases.

13
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QUESTION 2-4

® @

% tHEHE

GRIRE

What would you discard?



[l

HHE

© o

[
S |®@@| £
= [




SHANPON COMBINATIONS

’.’ ][ ]

ARHAAR

What would you discard?

8

® @

16



SHANPON COMBINATIONS

OHRNEEEIHEEYHE

You should look for a way to maximize the chance for 123 Sanshoku. Consider completing the

shanponfirst.
o 8 [ B (B [ |.E
i R R R
B )8 B)\gB5)\AER)BEB

®
®

If you discard 6m:

O

No Sanshoku.

If you discard 2m:

8

You can get Sanshoku.

aHRRARARA
5 ) 8 ) B B)#88)885) 888

3

Discard 2m to get Sanshokul!

17



SHANPON & KANCHAN

3.SHANPON & KANCHAN

Considerthe following tenpaishape:

BHEHHASBREE GG

How can you improve it to ryanmen?

If you discard 5s:

[gl[g}[-;:l['g][g R A R
" CEEREEEEER FEE.

4s and 57m give ryanmen.

In cases like this, it’s betterto keep shanpon overkanchan.

WATCH OUT FOR FURITEN!

In the above example, afterdiscarding 7s, 6s is no longer an effective tile.

18



SHANPON & KANCHAN

QUESTION 3-1

|

£
3

B0

iL
Q%

EE
HHHH HH (p)

What would you discard?

19



SHANPON & KANCHAN
[)c N

E[ale]S [l (2] [P).

In this case, if you keep the shanpon, the only tile that improves the wait to ryanmeniis 6s:
x L I I EEE) G
HBGEOHRE T G0

If you keep the kanchan, you can improve the wait with 2s and 6s. 2s gives a chance for more value

@

I\
%

with Chanta:
HEGOHRRE | NEEE

Exception: you can keep the shanponif you think that 9s is easy to win on.

20
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QUESTION 3-2

HEBOHBE < JLLE




SHANPON & KANCHAN

E

£

@

B

I\
% B

B8

g
ag) 5

B

GOE

(1 61 e e D G

Discarding 3s gives 6s and 7s for ryanmen.

Discarding 5s gives 2s and 6s for ryanmen.

The numberof improvementsis the same. Which one should you choose?

Let’s compare!

5s discard:

=

PP L oo

®D
®

o

o

(-
B )

N\

JER

ESIRES:
2 &2

kq:“‘{p“qjl(pon)

®®
®
o

You lose the red dora when you getryanmen with 2s...

3s discard:

|

&

g
g

I\
)

@
@

gl

B8
glgE

B8

8]

[ BEEE (%)

®®

You keep the dorain both cases.

r

N

£

:2)%)9)

e e
%) 375|888 | B

@®
[ @

(-
B )

N

6] (1P| P fon
B

\ (/L @ |B.B|8.8].B ) ] (
2519 2| =lstshElaa) T LF foon

®®
@

7
°

3

*

®
%

KEY POINTS:

Shanpon waits made of tiles 3-7 improve to ryanmen with 2 types of tiles (both sides)

Shanponshapes of 2's & 8's improve to ryanmen with only 1 type of tile.

Terminal and honorshanpon can’t be improved but they usually make for good waits on their
own.

Whenyour shanponincludes a red dora, make sure you can use it.

22



SHANPON & KANCHAN

QUESTION 3-3

HHEHH3

I\
5

l[

40

Dora: g

What would you discard?

] B

B
BEB|BEE
BEBI\BEE

23



SHANPON & KANCHAN

HHHARE0E

J\.

". .,’ ‘ H H H \ HHHH HHHH

Itis true that if youcut 1s, you’ll be able to improve the shape to ryanmen with 468s. However, since
you already have adecentvalue (two dora), it’s better to simply riichi with 2s kanchan wait! Remember,
2's aren’tvery usefulto youropponents and they easily become sujitraps.

24



COMBINED RYANKAN

4. COMBINED RYANKAN

Considerthis shape:

One of the mostimportant rules of the 5-block theory is that every block should have at most 3 tiles.
That is why you usually have to discard one of the tiles from such shapes.

Which tile to cut? Itdepends...

*+ Ifyou're aiming for Pinfu, discard 8s:

He

You’re more likely to make a setand ryankan can improve to ryanmen.

+» Ifyou’re planning to openyourhand, discard 4s:
i s
88| R\ A

Now it’s a combined kanchan. 8 is easy to pon, generally speaking.

Let’s practice!

25



COMBINED RYANKAN

QUESTION 4-1

|

——

2

][

Ak

l[

AREEE

HHH
HHH

What would you discard?

HH
HHHH

26



COMBINED RYANKAN

V==& [ (== (®==|2&|e==| (3.8(888).E.| (FEE[EEE
Elz[E]8) () el I

The block in manzu has four tiles. You should reduce it into a three-tile block. You’re aiming for Pinfu
so discard 1m!

27



COMBINED RYANKAN

QUESTION 4 2

|

——

2

][

—y

5

l[

3

HE

@

EH

HHH
HHH

'o
What would you discard?

28



COMBINED RYANKAN

&

BHEE b EEE. ..

You want to openyour hand with Chun. Again, you need to slim down the block in Manzu. Since you're
going to call, discard 5m. 1m is a great pon candidate.

—x=x_
/a3,
R >
D
29

29



QUESTION 4-3

fiilalit

BHEES R

What



COMBINED RYANKAN

HHHAIAE ¢als's) i) (Ealo

You should slim down the block in manzu because it has fourtiles. No matter what you discard, ukeire
will be similar.

But!

If you are going to open the hand, you should keep three pairs.

EIElE) (=L GalsslEd) () Bala

Now you can pon any of the pairs and there’s achance to getryanmenin manzu with 7m.

31



COMBINED RYANKAN

QUESTION 4-4
IR ERNEE
HHHGHRET

RER R
[H E][H H][HHH]

What would you discard?

32



COMBINED RYANKAN

Ez[E[) ELL G (e i

Eventhoughthe block in manzu has too manytiles, you should aim for Tanyao and discard 9s!

Rememberthatyoucan draw more tiles in manzu and reconfigure them!

% &l &

2345678m help you make two blocks.

KEY POINTS:

% With shapeslike 5799 or 4668, it’s usually bestto reduce the number of tiles to three. When
going for Pinfu, break off the pair; when planningto call, discard a single tile!

7l
L4

When choosing your discards, consider the chance of making ryanmen with the remaining
shape!

33



AVOIDING TANKIWAITS

5.AVOIDING TANKI WAITS

Have you ever had tenpai like this:

H88HARBREN. 8

Tanki is the weakest basic wait. Since one of the winningtilesis already used, thereare only three outs.

On the other hand, tanki waits can easily improve:

HH8HARBREN. B

Westwind is much better as a tanki wait than 6p because your opponents are more likely to getrid of
West than 6p.

There are ways to avoid such scenarios altogether.

34



IDING TANKIWAITS

QUESTION 5-1

REHERE 0P

What would you discard?

@

Jesli




® @

AVOIDING TANKIWAITS
@ &

=) (828 HERNEY @[+

58s seem redundant, especially to beginners. You should not follow this “instinct” which in fact is a
lack of knowledge!

5678s is a very strong block - yonrenkei. You can make two ryanmen out of it or it may become a pair
+ set.

In this case it is much betterto discard the weakest block—12m.

Evenif all your othersets complete before yourdraw souzu, your wait is going to be pretty good:
@®

B[z CAEEEY e]a]) Gl

Your wait is nobetan - a double sided tanki wait — 58s. Almostas good as ryanmen.

@

36



IDING TANKIWAITS

QUESTION 5-2

ii sss

10

HEH0E




AVOIDING TANKIWAITS

=w o 6 2 60 R R B
AR IR R EH I

It is obvious that you wantto call Chun. What to discard afterwards?

2 or 5s? You guessed that right!

WAIT, WAIT, WAIT!

Justlike in the previous example —don’t break up yonrenkeiin souzu! The weakest block is 89p!

Aiming for nobetan tenpaiis the way to go!

KEY POINTS:

+* Learn and memorize four-tile shapes:
2246 (combined ryankan)
3456 (yonrenkei)
5677 (aryanmen)

+» Rememberthat combined ryankan is the weakest one. You can often keep yonrenkeiand
aryanmen all the way to iishanten or even tenpai. They both make for good waits.

38



6-BLOCK METHOD — COMPARING BLOCKS

6.6-BLOCK METHOD — COMPARING BLOCKS

Hierarchy of blocks:

@@@ combined ryanmen
@@ ryanmen

2 @%@E?g combined penchan/kanchan
g g ggg ﬁ ryankan

23 ﬁ‘ Yakuhai pair

- green zone — best blocks

- yellow zone — moderate blocks

- red zone — weak blocks

Tips:

- consider Chiitoitsu/Toitoi when you have at least 4 pairs

- terminals and non-Yakuhai pairs are excellent pon material

Let’s look at some hand examples!

39



6-BLOCK METHOD — COMPARING BLOCKS

QUESTION 6-1

UHBHE

®|8q8
2)8%

BE8
BE8E

What would you discard?

I

40



6-BLOCK METHOD — COMPARING BLOCKS

This hand has six blocks:

=[] (B]2) (®f2]™) Galss) Gl (G

We needtodiscard the weakest block. It’s 9s!




6-BLOCK METHOD — COMPARING BLOCKS

QUESTION 6-2

HHEHBGOHREB

What would you discard?

I

42



6-BLOCK METHOD — COMPARING BLOCKS

38

I\

GHEIHGI0
Again, 9s is the weakest link. It’s ok to discard it.

HOWEVER!

Notice that 6p can turn into ryanmen with 5p or 7p. Considering this kind of shape evolution is
important. In some situations you may want to discard 8m (the second weakest block).

58|38 (BEE|EEE
ifse) (SRRl

43



6-BLOCK METHOD — COMPARING BLOCKS

QUESTION 6-3

Weleky (| Welsky

".s.@a "s“’

What would you discard?



6-BLOCK METHOD — COMPARING BLOCKS

BEEIAGIBEE

Hmmm... the weakest block seemsto be 1s, right?

Watch out!

If you discard 1s, you will have a pairless hand after drawing 3m:

HEAHAGHRHRE

You should keep the block that is most likely to become the pair. In this case it’s 1s because it’s an
isolated pair.

® @
@

Discard 9m!

45



QUESTION 6-4

i5H 8600

-

BE

@|®l3[1)

=




6-BLOCK METHOD — COMPARING BLOCKS

[ @)@ [+

® @
:

8

ac HEH):

What's the weakest block?

Normally, terminals and non-Yakuhai honors make the weakest blocks. There are five pairs, though.
That means that this hand is 1-away from ready to Chiitoitsu. Regular handis 3-away from ready. You
may notwant to discard any of the pairs. That leaves 56s as the weakest block.

DON’T BE AFRAID TO DISCARD RYANMEN!

If you manage to call Chun, you can aim for Toitoi as well, because all your pairs should be easy to
pon (referto the table at the beginning of the chapter).

KEY POINTS:

When you're going for a regular hand (4 groups, one pair) you can keep 6 strong blocks.
Justrememberto secure the pair!

*
X4

*,

**» Whenyou’re going fora pair based hand (Chiitoitsu, Toitoi), keep the pairs which are easy
to ponand don’t hesitate to drop ryanmen blocks if you have to!

47



Let’s start with an example:

TENPAISPEED

7.TENPAI SPEED

|

—-—
-
—

2

5]

£
5|5

[/\

JHAH

BBE
8828

[

What would you discard?

48



TENPAISPEED

HEEBBHAH HHM

Fixing ryanmenin pinzu seems like a goodidea, doesn’tit? Let’s do it!

BHABERINHREEEE

You have to drop 78m now because it doesn’t guarantee Tanyao...
Try discarding 78m first!

5 EH B SR H TR

That’s more like it! You have a perfectiishanten. Moreover, Tanyao is guaranteed so you can call if
need be.

Can we do better?

Let’s do some math!

49



TENPAISPEED

Breaking shanpon gives more ukeire at 2-shanten -> 1-shanten stage.

HEARBREAH HHE

Ukeire: 2569m, 36p, 58s — 8 kinds; 32 tiles

Compare that to dropping 78m:

BEEEHHE

Ukeire:25m 3468p 58s — 8 kinds; 28 tiles

¢ adal
g8 8888

However, whenyou consideriishanten -> tenpaistage, the situation is reversed!

v@ /E" N w vwv H H VH HVH H HHH
e A

EBEHEE:
eeles|22)22 8 | 8 (8 8)8,8)088
B HERE SR

{ N Y4
= | [\
e
The first hand —you have to drop one ryanmen so your tenpai ukeire includes two ryanmen — 16 tiles.

J\

8|

\

The second hand —your ukeire includes two ryanmen and shanpon — 20 tiles!

To sum up:
E1%) (&) C) () (IR0 (il

As you may have realized, this hand has 6 blocks. Since a standard Mahjonghand consists of 5 blocks
(4 sets + a pair), you don’t actually need 6 blocks. The weakest block should normally be discarded to
aim for the fastest tenpai.

In some situations you may decide to keep 6 blocks in the above hand, forexample:

- ifdp or8pis dead

- if6-9mis dora

- if you desperately need Pinfu

- if manzuare too dangerous to discard

Having said that, you should always be aware of the ukeire trade-off you’re making.
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TENPAISPEED

QUESTION 7-1

BEARGASHE

~ . )

What would you discard?
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TENPAISPEED

HEHIBGIHE Sl (e

Again, there are six blocks so you should remove the weakest one. In situations like this, you should
normally discard a regularkanchan. 224 and 246 are stronger.

Discard 9m!

KEY POINTS:

There are advantages and disadvantages to both 5-block and 6-block methods. Modem
Mahjong strategy favorslocking in 5 blocks.

®
%

% From 3-shanten on, you should keep track of the blocks in your hand. It’s crucial to plan in
advance whetheryou will keep 6 blocks or lock in 5 blocks!
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5-BLOCK METHOD vs 6-BLOCK METHOD

8.5-BLOCK METHOD vs 6-BLOCK METHOD

ERHR

What would you discard?

Yy °:?°°o H HH
A [H][HHH
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5-BLOCK METHOD vs 6-BLOCK METHOD
HHH 2\
@

S HIEHIHEIEE

There are four strong ryanmen blocks. It goes without saying that you should keep all of them. Since
you are not going to call with this hand, it’s ok to discard either 2s or 9p.

~—
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QUESTION 8-2

i5H. 8600

-

BE
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5-BLOCK METHOD vs 6-BLOCK METHOD

OOHHEREEEHERER

Rememberthisone? hope you do!

Last time | recommended using the 5-block method and discarding 56s for the fastest tenpai.
However, you can also use the 6-block method. Discard 9p to balance a regular hand and Chiitoitsu!

That way you may getto ryanmen tenpai:

HEEEEE2[ )
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QUESTION 8-3

JiiltHfE

HE0HS

®®

HHE e o




5-BLOCK METHOD vs 6-BLOCK METHOD

HEI0HONSEHE = HHE <

This hand can aim for Sanshoku/Ittsu. If you use the 5-block method and simply discard the weakest
block, you are going to lose one of the potential Yaku.

Discarding 12p loses Sanshoku. Discarding 89p loses Ittsu.
Thanks to the 6-block method, there is a better discard to balance your potential Yaku.

Discard 2s to keep both Sanshoku and Ittsu!
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What would you discard?

&

&)kt




5-BLOCK METHOD vs 6-BLOCK METHOD

BEIHBIHGEISEEINEIAE

The answeris... it depends!
If you’re aiming for Honitsu, you can use the 6-block method and discard 4p.

If you need a quick hand, you should maximize efficiency (5-block method) and discard the weakest
block — 12m.

KEY POINT:

% If you are aiming for the fastest tenpai, use the 5-block method and simply get rid of the
weakest block. If you want your hand to be more flexible, use the 6-block method!

60



OVERLAPPING UKEIRE

9.OVERLAPPING UKEIRE

You may already know to beware of overlapping ukeire, right?

Examples:

HHE (288)
(B78) 888

Y
@ ale

(==l==l=a=)
(z=l==l==]
aal==l==)

— 7s overlaps

o [%%;%1 1
e (29 |

Gelilit]

— 6p overlaps

(@)
213 —36m overlap

HOWEVER!
QUESTION 9-1

® D

S5 ' el

HOHs

I\
5

|

O..
What would you discard?
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OVERLAPPING UKEIRE

B

B

HEOHABHUE R

You should avoid the risk of Yaku-less tenpai. Despite the overlapping ukeire in Pinzu, you
should discard 79m. 47p will give you Ittsu tenpai!

oo

s \r W.. ..‘rwr*r H H H‘VH H\VW‘VW\
@) 2%, )oc)enaa i EE] o) A R R
s \( ‘V‘V‘V‘V E E Eer Bw WVWW
D) & | %)) ze)i |50 008 0880l
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OVERLAPPING UKEIRE

Question9- 2
®®

Jatlealid) el EEE...

What would you discard?

@

HEGHE

® @

63



OVERLAPPING UKEIRE

BRI REEEE

Am| playing for speed or value?

@ CO

HHGE

Askyourself the following question:

If you're aiming for value, 67s has to stay because there’s a chance for 678 Sanshoku. Despite
23p being more efficient to keep, you should discard it. That is because if you keep 23p and
draw 5s, you'll get yaku-less tenpai.

After discarding 23p, drawing 5s won’t be bad at all:
®®

BHABERIRBEENEE

You have a three-sided wait with 8s giving you Sanshoku!

If you're going for speed, you should keep 23p and discard 34s to eliminate the overlapping
ukeire.

It's important to always ask yourself the above question and make appropriate judgment.
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OVERLAPPING UKEIRE

QUESTION 9-3

As you know, Pinfu isworth 1 Hanand Ittsu is worth 2 Han. With that in mind, compare these

&S|

@ & ||

What would you discard?

examples:

J
N\

( @1
&
®.

SRE "EHH][W"
B B8
g
g

®\

N V®®®‘
DB B
] (888

S
N\

®
®
®

-
tE

2o
®@
Gl

®®
a @‘
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OVERLAPPING UKEIRE

N\
J
N
J
N\
J
N\

iy
Bk
@
@ @

N
J
'
J
N
J
)
N

&

@ | e

GCEE
RO
| BR®
ri:l:l
(= = ]

7
..
é
.
4
.
7
.
.

\.

RE 2
23 [

4 \( N \( 17 17 ‘717 N\ \/ 4
t/\ ...E g
AA%AL J\. ALJL AL ALJLE HA J

In the first hand you should discard 89m to keep the chance for Ittsu.

It's ok to give up Ittsu inthe second example because you confirm Pinfu.

KEY POINT:

+»* If your hand can only score one Yaku, you should aim for that Yaku. If there are more
options, you should settle for whichever is easier to get, keeping balance between

speed and value. Securing ryanmen should be the priority.
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OVERLAPPING UKEIRE

QUESTION 9-4

JEEE

W]

BEE
BEE

HEE

2

What would you discard?
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OVERLAPPING UKEIRE

If you discard 56s:

AR

There's a big difference between your winning tiles:

- 3m gives Tanyao, Pinfu and Sanshoku
- 6m gives Tanyao and Pinfu
- 9m gives only Pinfu

If you discard 78m:

IIEEREEEE

Your winning options are more balanced. Even if you miss out on Sanshoku, you always get
Tanyao and Pinfu!
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OVERLAPPING UKEIRE
Let’s compare these two hands:
rv vv HVHH HHVH HVHHHVEDV,L‘E /[fv/\j
RN | e e e B Y
r';]:‘r/t V/\\V\r 17 wr H ‘VH H‘VHHH‘ H )
HHGHE N BB

First example — you can confirm Tanyao and Pinfu so you should focus on efficiency. 4578m
has overlapping ukeire of 6m, so you should discard 78m.

N\

Second example — there’s no Tanyao-Pinfu so you should aim for Sanshoku. To maximize
Sanshoku potential, ignore the overlapping ukeire in Souzu and discard 23p.
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QUESTION 9- 5

HH86!

What would you discard?



OVERLAPPING UKEIRE

HHEBGUB8E | (0

Even though keeping 45p is slightly more efficient (6p ukeire), in most situations you should

aim for a higher score. Keeping 12p confirms Chanta. Discard 45p!

71



FIXING THE PAIR

10. FIXING THE PAIR

First off, I’d like to introduce a new term: tenpaipotential. Tenpai potential stands for all your possible
tenpaiwaits and the number of winning tiles. For example:

HHEBGRAEEHNH

®

5

Tenpai potential of this hand is:

25m14s —those tiles give a bad tanki wait

34m23s —these tiles fix a ryanmen wait
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QUESTION 10- 1

HHH
il




FIXING THE PAIR

HEIHGEIRESRHNE

The crux of this question is whether to keep both ryanmen or ryanmen + yonrenkei. In this case you

should discard 9s.
EEH
E E EHH

HHHBEBE
You should only keep yonrenkei when there is a bad shape in your hand (kanchan or penchan).

® ® @

As | explained earlier, good tenpaiis not guaranteed butit’s ok.
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QUESTION 10-2

ule [ee|e e
2 elec|ee

BT

B
8

What would you discard?



FIXING THE PAIR

® @
@
® @

®
&
®

® @

HEIHB8E HEARHE

You can eitherfix the set 789m or fix the pair of 7m. Which one is better?
Discard 7m:

BEABARREHRE .

You may recognize this situation from the previous page. Ryanmen tenpaiisn’t guaranteed. If you draw
Compare that to fixing the pair, discard 89m:

HHHE IR

You have fewer effective tiles for tenpaibut ryanmen wait is guaranteed! Thisis much better.

® &
® @

@

® &
@&

® @
@

When you have ryanmen-ryanmeniishanten, you should break a set to fix the pair!

Discarding 7m may not be horrible but fixing the pair has become a standard strategy in modem
Mahjong.
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FIXING THE PAIR

QUESTION 10-3

R EER R
=) B ) B B)88g) 885 gaE

3z

2

What would you discard?
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FIXING THE PAIR

HHABGGRBEHN [

When you have iishanten with ankou, you should not fix the pair.

To illustrate, let’s discard 89m to fix the pair in manzu:

EERAREEHR

You gettenpai with 25m14s.

Notbad, but let’s discard 7m to fix the setin Manzu:

12PN 8 | 8 (EEE|EEE)EEE
BHHBE SH! a]

You gettenpai with 2345m1234s. Much better, isn’tit?

This is called headless ankou iishanten.It’s veryflexible. The ankou can either serve as asetoras a pair.
When any of the ryanmen completes, you discard one of the ankou tiles for ryanmen tenpai:

)
]

(=Tt Az (=== 8 | § (EEE)EEE
%ﬁﬂ%ﬁ% l%ﬁ“ o0 o) BN R
(=Y Al (=== 8 | 8 [EEE)EEE
BHOABGEBEUHN ]

If you draw a pair first, you keep 9s as ankou:

(=1 =11 )z (e=|==|§ | 8 (EEE|EEE|EEE
BEOBEREEHR
(oA A Hle Je=l==| 8 [ § (EEE(BEE|EEE
BEHOBEREEHH

Let’s move on!
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QUESTION 10-4

e a3

HHBOA

What would



FIXING THE PAIR

&

BEIHHOE

There is one bad shape — 24m. If you fix the pairin manzu:

HHIHE

Your tenpaiukeire is: 3m14s. Only 3m gives good tenpai.

BEE BEH
B |88 (ggg)BBEeEs
H B ...
What if you fix the set in manzu?

HHIHAE AR At ]

Your tenpaiukeire is 234m1234s. 24m give good tenpai. That’s better!

@

® @

You should only fix the pair when you have

ryanmen-ryanmeniishaten!

80



FIXING THE PAIR

QUESTION 10-5

|

][

HHE

G =R

What would you discard?

BEE
HHH
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FIXING THE PAIR

HHEBAGHEERHEE

There are two bad shapes so normally you wouldn’t fix the pair, but in this case you are aiming for
Sanshoku 789 so you should fix the pair of 3m!

Compare:

-—

BEEBAL ]H[a Hl[ el
BHEE ] HE

HH
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FIXING THE PAIR

QUESTION 10-6

ik

2

%[

e a3

. ®
What would you discard?
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FIXING THE PAIR

Xl || & |ee|22 [es(ee 8|8 B [gRp|EEE
[g][g B8] | Zeloe)at) |o%)28 a][ss]

Perhapsyou are tempted to fix the pair in manzu since it seems like ryanmen-ryanmeniishanten...

Think again!

It's betterto fix the pairin pinzu.

tiN|H| |2 |es|ee|ee|ees| | § | 8 B (BRE|EEE
s[af) (Lol [8)e) el

Take a closer look at the complex pinzu shape:

e (ze|e e elee
HEEECICEIEE

This is a 5-tile combination of aryanmen and nobetan.
It can give you a set + a pair with 2356. It can also give youtwo sets with 47.

If you cut 6p from this block, you fix aryanmen:

® (@@
@ @
] ® ON@ @

If you cut 5p, you fix nobetan:

®‘

][

@@
@ |o
e|& &

Make sure to memorize this powerfulshape!
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FIXING THE PAIR

Let’'scompare a hand with such a shape to one of the previous ones:

HHABBRERHR e
ElalEl T

Bad tenpaiukeire — 47p
Good tenpai ukeire: 2356p14s

Tenpaichance is by far better when iishanten contains a complex shape.
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What would you



FIXING THE PAIR

HEBBOHAREMH

Again, pay close attention to the shape in pinzu. It does contain ryanmen butit’s also a 5-tile nobetan
combination:

There are numerous ways to create a pair: 1245p. If you draw 25s first, you’ll have nobetan tenpai
which is pretty good.

Discard 7m and fix the setin manzu!
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FIXING THE PAIR

QUESTION 10-8

g4

I\
5

(3]

el il

What would you discard?
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FIXING THE PAIR

Sl Eal AN P N B I8 8).B. |BRB|EEE
%% /g ) HHHH@M@

Let’s break down the shape in pinzu:

+

)
|

®_®
® ®
®_ @
® ®

J {
J |

+

®
®
®
®

®
®
®
®

|
|

It can make a pair + set with 245p. If you draw 25s first, you leave pinzu as aryanmen:

®

Discard 7m to fix the setin manzu!

There’san exception: if you need more value with lipeiko, it’s ok to fix the pair in manzu.

KEY POINT:

+» Deciding whetherto fix a pair or a set in iishanten isn’t a particularly complex issue. Just
rememberthatyoushould fix a setin three cases:

- Ankouiishanten
- Goodshape + bad shapeiishanten

- lishanten with a strong 5-tile combination.
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BUILDING A GOOD SHAPE

11. BUILDING A GOOD SHAPE

There are four-tile shapes which can serve as springboards towards strong five-tile combinations. You
may be familiar with them if you’ve read Riichi Book 1. One of them s nakabukure. It consists of a set
with a pair in the middle:

HHHY

You should be aware of the ways these blocks evolve into strong 5-block combinations:

gl
E&
R
ek

“4

£
Y

~
’

;MQA
Ga)

>k
>k

58
M@‘
EIESNES
R
ek

;MQA
B
E
E

J\

Nakabukure in different positions are valued differently:
Drawing 4m creates penchan:

HH88H

3-7 nakabukure > 28 nakabukure > 19 nakabukure

Nakabukure hierarchy:
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BUILDING A GOOD SHAPE

The other important 4-tile combination is yonrenkei. It consists of four consecutive tiles, for example:

B

B8

Possible developmentsinto 5-tile combinations:

- sanmenchan (3-sided wait)

HERHEH

Bl

.8
iE :

A R A

- aryanmen+nobetan (dependson the rest of the hand)

B 1 Y

B

5.8
B g

)
328 aig | g8

B

l[

(i
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QUESTION 11-1
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BUILDING A GOOD SHAPE

HHABCHBRHIRHEE

There are two four-block combinations. Nakabukurein souzuis strongerthan the one in pinzu because
it contains flexible middle tiles. It’s more likely that you’llmake two strong blocks in souzu. Discard 2p!
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BUILDING A GOOD SHAPE

QUESTION 11-2

HHEHE

8= M

B
B8

8

B
B

lii
B8

What would you discard?

BEE
HHH
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BUILDING A GOOD SHAPE

BHERERIEREEE

There are three four-tile combinations to discard from. The weakestform s the terminal yonrenkeiin
pinzu. Discard 9p!

KEY POINTS:

¢ Four-tile combinations are very usefulfor creating strong hand shapes.

«» Middle four-tile combinations are more flexible than those containing 2’s, 8's and terminals.
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IISHANTEN TYPES

12. IISHANTEN TYPES

A
HEHEHOHRBE R Y

This iishantenincludes five-block combinations. Tenpai ukeire is wide.

e H H g
LHE

1. Confirmed pairiishanten

HHHAHA

Tenpai ukeire is moderate.

I\

3. Kuttsukiiishanten

H886HA

£
5

[

i

. )

This iishantenincludes two floating tiles two form the final block with. Tenpai ukeire is superwide.

Kuttsukiiishantenis superwide!

There are othertypesofiishanten but they are going to be discussed in the next chapter.

Let’s do a quick warm-up!
Ceg

HEEHAHREN

What would you discard?

KA
R
e\l
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IISHANTEN TYPES

===l % % Oo"o

£)85)8)%8) %)% ez

Considerall possible discards and tenpaiukeire they give:

3p — 6789p 56789s; 9 kinds of tiles

7p — 369p 7s; 4 kinds of tiles

8p — 123457p 56789s; 11 kinds of tiles
7s - 123456789p; 9 kinds of tiles

You should discard 8p. Now let’s examine the type of iishanten you get afterwards:

=== |5]%5 |%
S EIEIE IR 8888

Four blocks are complete (3 sets and a pair) and there are two floating tiles. Any tiles around the
floating tiles (including themselves) can form the fifth block:

: HHEH

E
Cel - 12345p
(B )

ggg - 56789s

You can also draw the third 7p to gettankitenpaialthough that’s the least desirable.

That’s a lot of ukeire, eh? Let’s do some kuttsukiexercises!
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IISHANTEN TYPES

QUESTION 12-1

HEHE

HHH H H
[l 2 |+

What would you discard?

@@
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IISHANTEN TYPES

BEEERE | BRIE

Comparing floating tiles isn’t difficult if you remember the general principles of tile usefulness. You
have to decide between 5, 3 and 2. Tiles 3-7 are more versatile than 2. Discard 2p!

99



IISHANTEN TYPES

QUESTION 12-2

[%][%][%][g 7 3 HH HH EEEﬂE

What would you discard?
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IISHANTEN TYPES

218153 (S B () G

If you recall the two previous chapters, you’llquickly notice two strong four-tile blocks: nakabukure in
manzu and yonrenkeiin pinzu. These shapes are particularly strong when you have kuttsukiiishanten
because they’re very likely to produce ryanmen tenpai(or better). Discard 3p!

D @ (|DRD
&
(5]
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QUESTION 12-3

ARO0E

What would you discard?

=

HHHEH




IISHANTEN TYPES

— Il |\ “‘
2| 2|21z 52|k @l® ) [0

It's not always about pure efficiency. 1m is by far the least versatile floating tile. You may be quick to
discard it. Before you do so, notice that it allows you to get Ittsu. Drawing either 2 or 3m gives Ittsu
iishanten!

Make sure not to miss such opportunities, especially when you don’thave any doras.
Ok, so should it be 4 or 7? They are somewhat similar, right?

Consideronce more your potential Yaku(s). With this hand you may aim notjust for Ittsu. You can also
hope to get Sanshoku 789!

That’s why the final answerto this questionis 4p. If you only need speed, you should follow pure tile
efficiency.

KEY POINTS:

+» Kuttsukiiishantenis the bestiishanten (widest ukeire).

.0

/7
0.0

Floating tiles 3-7 are the mostflexible for kuttsukiiishanten.

* Yonrenkeiand nakabukure are strongerthan floating tiles.

L4

% You may want to deviate from pure tile effieciency to aim for extra Yaku.

-,
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MORE IISHANTEN TYPES

13. MOREIISHANTEN TYPES

Non-standardiishanteninclude:

Kokushimusouiishanten

n‘
BB
BEB)\BEE

Rloft] |#]]

Chiitoitsu iishanten

[%][%ﬂ‘él[%]l% BHEHEEEE
BERAR SRR

What would you discard?
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MORE IISHANTEN TYPES

BHEAR T BRRE

You may be tempted to keep the floating tile by fixing the pair in souzu.
®®

HEEAR I BEnRlE

With one floating tile, good tenpaiisn’t guaranteed. 3568m and 24s result in ryanmen. Let’s say you
draw 1s instead...

HERROR N EERRI

Is there a bettersolution then? Of course!

Try discarding 3s:

HBEA 1 SHRA

Now your tenpaipotentialis better. 345678m and 7s give ryanmen tenpai.

Yonrenkeicombined with a ryanmen + pair block ensure a strong tenpai.
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MORE IISHANTEN TYPES

QUESTION 13-2

H88HEH 8

What would you discard?

@ .O

=
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MORE IISHANTEN TYPES

HEHER Y DREm =

You may want to fix the pair in pinzu by discarding 4p. With the last example in mind, you'll know it’s
not optimal if you want to maximize yourtenpai potential...

Discard the floating tile to keep the best chances forryanmen tenpai.

BHBHH AR

There’s aryanmenin manzu and a combined ryanmen in pinzu. Tenpaipotential is super high!
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MORE IISHANTEN TYPES

QUESTION 13-3

BHEEHEREERE

What would you discard?
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MORE IISHANTEN TYPES
B8

HERBHE BB RN

This example is a grey area. A trade-off between tenpai potential and value (Sanshoku). Compare all
discard candidates:

EERRETE

Kuttsukiiishanten. It gives widest tenpaiukeire but Sanshokuisimpossible.

% 47p or47s

BEEHAHRHRH

\/

Combined ryanmen + yonrenkei. Good tenpaipotentialand decent Sanshoku potential.
% bm

GIEJEIE[R) elaalealt it

Headlessiishanten. Weakest tenpai potential but the best chance for Sanshoku.

Decisions may vary among high level players. The correct answer may depend on situational factors
such as tile availability, scores etc.

KEY POINTS:

< If you want to maximize the chance for ryanmen tenpai, be on the lookout for iishanten
consisting of combined shapes such as yonrenkei + combined ryanmen or aryanmen +
combined ryanmen.

7

< If you're after a specific Yaku, you usually have to sacrifice some efficiency. Judge wisely and
don’toverdoit!
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RYANMEN-KANCHAN CROSSOVERS

14. RYANMEN-KANCHAN CROSSOVERS

Have you ever heard of “hidden ryankan”?

QUESTION 14-1

4 A EH B |

What would you discard?

HE

® @

O
~—
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RYANMEN-KANCHAN CROSSOVERS
Bq8 | 848

NEN RN R BEB[BAE| @
£ %% %888 8)|8% 8% 800 A
It may seem like there’s no difference between discarding 1s and 8s because you get ryanmen-
ryanmen iishanten aftereither. Think again!

)

1s discard:

ﬁt/\HHHHEHHEHHHHW
N ESEN R R I bR Y
Tenpai ukeire: 47s, 36p.

8s discard:

Ey v |8 B) 8 B 8°8)8°8) 8RR @

Tenpai ukeire: 247s, 36p
Discarding 8s is more efficient!

The shape in souzuis sometimesreferedto as “a hiddenryankan” because it’s easily overlooked:

EAE a"HHH] 'HHH][HHH‘
&\aa)ge)e’s (8% )80
][HHH‘
5B B) 8 BEE)

The first configuration is easy to detect. The otheroneis a tad trickier.

B8R

That’s a ryanmen-kanchan crossover.
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RYANMEN-KANCHAN CROSSOVERS

There are severalryanmen-kanchan variations:

COMBINATION WAIT
T ToTETaT ——=
5155 8|52 EJEIEY
RIS e ———
EIEIEIEIEIEY ESEIEY
EAGACS A RN @[> 7)
EJEIESEIEIES EIE3E
(1 =1=1w &+ (@)=
EIEIJEIEIEIEY 5] % %)
BRI AN ERaArara
SIEIEIEIEIE! eitiey
CIFACAEEAER SN
553 5|5 eItk

All of them consist of six tiles. Let me give you a tip on how to memorize these combinations:

Floating tile and ryanmen ukeire always follow suji

sequences.
Examples:
D @@ @@ @@ ®® ®@®
2 ® o oo 282828 g
Floating tile: 2
Ryanmen ukeire: 58
2-58  (sujisequence)
R R RAEAES
. CEEREE
Ryanmen ukeire: 36
Floating tile: 9

3-69 (sujisequence)

Time to putthis knowledge to practice!

@@ eo|es|ssles
slec|ee|ca|E8
Floating tile: 1

Ryanmen ukeire: 47

1-47 (sujisequence)
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QUESTION 14-2
®®

B ERAAE

What would you discard?

8




RYANMEN-KANCHAN CROSSOVERS

se|esle sles|gap| B |~ =[]/
S B A B B B K

To an untrained eye both 1p and 9m seem equally efficient. They’re just pairs, right?

Of course not!

Now you know that 1p is part of the ryanmen-kanchancrossoverand allows you to use 2p. You should
fix the 9m pair.

Discard 1p!
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QUESTION 14-3

BRHERARDC

What would you discard?

@@

@ @

B
B

W
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RYANMEN-KANCHAN CROSSOVERS

QUESTION 14- 4

BERRE
ESESE? HEHHHHH EE) CEE

What would you discard?

JesliE
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RYANMEN-KANCHAN CROSSOVERS

[%][’é? HH E E Eggnﬂ :: :: ][ﬁ]

Here’swhere the fun begins! The options are:

3s

[a HHHHH ” ..
I HHHHH 385288 "

Perfectiishanten. Tenpaiukeire: 689s, 469p.

®® 'o.
.q-:gg
There’s a catch, though! If you complete shanpon first, you’ll have Yaku-less tenpai:

—~|=V=18.8888 [BRE[BRE[BRE| = 2| = =
%A%][%Laﬂajaaa : Em][mm][ 2o e

'a":_][.r_"aﬂa"aaa 2 H'W"w'
EXESEN bR i YA Y

Best scenario is drawing 6s:

m]
®‘
&
g
@1
®

(= m]mn]
)
)
(ee®
BB

@@ g1 e
38 | |
(eaes)
RRR®

= |

(=]

— HHH HHH ®®
[;% HEH HHHHE sejes
Pinfu-lipeiko tenpai.

Let’s consider 8s discard:

— :_ HHH eele e gl
[g][:g aaaﬂﬂ voloslgd)il

Tenpai ukeire: 469s, 469p.
Every tile except4p gives you Pinfutenpai.
Which option is better?

Expert opinions on this mattervary.
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QUESTION 14-5

BRI R

What would you discard?

Gt
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RYANMEN-KANCHAN CROSSOVERS

BEHBEE BRI

You wantto call chun. What should you discard with that in mind? The choice is between 4sand 9s. 4s

keeps the 6-tile the crossover, 9s gives perfectiishanten.
(i)l e el 2220 [ )
)

Discard 9s!
8.8
g 33l

HBHEE

Now you can pon chun fortenpai.

It's not possible if you drop 4s because chun becomes the only pair candidate:

HH T
5 J%HHHEH BJB88)gaa) 288
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QUESTION 14-6

[F_][@][HH HH HHHHH 8o -.. ﬁ]
EAEAEE HH JEEE ::::

What would you discard?
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RYANMEN-KANCHAN CROSSOVERS

[ ][ ][HHHHHH HEH HH 0'%%]
ESENERICRIERIE HEH HH @ 28282

Anotherchoice between a 6-tile crossoverand perfectiishanten.
HHEHHEE
%)% )88/88

o an g = [ & [sfs[3

Pinfuisn’t guaranteed but Tanyao is secured and you get lipeiko with 6s. On top of that, you can call if

need be.

Discard 9s to keep the perfectiishanten!

Keepingthe crossoveris less flexible:
®®

BHIEEMIE
J%J%HHH B)BBE)g8g) 288 33

Pinfuis guaranteed butthere’s arisk of losing Tanyao and lipeikois dead.

_J
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QUESTION 14-7

B ][H H][HEH][HHH][HHH][HHH][ []
v | B BJ 8 BJB°8)878)BAE)BEE

What would you discard?
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RYANMEN-KANCHAN CROSSOVERS

HHEUNHEEHHBRGE
%)% )& YY) BE)EE)Be) B ) BEE)\BEE) @ 3383
This time choosing the crossoveris better. Discard 6s!

Why?
HHEUNHEEHHR8E
EYEIEIGALRIEE: i

8°8)8°8 8333

You can aim forSanshoku 123. Pinfuis guaranteed.

Compare that to choosing perfectiishanten:

HEENHE LS
%)% )% )88)8g)8e) 88880 BB

You lose Sanshoku. Neither Pinfu nor lipeiko is guaranteed.

@

83

®®

ils3

KEY POINTS:

%+ Learn to recognize six-tile ryanmen-kanchan crossovers.

%+ Learn to choose properly between crossoveriishanten and perfectiishanten.
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